HR() BENEFEFERER

FEEXIZHAEA

RRERT (BT
(Bf: M)
BREREDHRBRR REAEHR RIEAEKR RELERFIKR
o (AD>H =
o el REDA#E BI4E7H318 | #i47R318 BEE1AARD _SHITIRE =
A% FE e | B2 |py e Y LN P Ex FTO BED I FLE mERD IWEFE |y | R REWEBOT
= = ) (C)=(A)-(B) WEFE | MERFE (F) 2 (G)=(D)+(F) (H=(C)~(G)
=55 G) ®=CD) P G
MR (ERT) | FR| 13 | RETH | 1 1 %Eg;\—ggﬁg 4,747,800 0 1 4,747,800 2,533,800 2,214,000 0 2,533,800 1 2,214,000 [ 4 |4R#H(FIEFTH)
BHBEEETOR| 1 4,747,800 0 1 4,747,800 2,533,800 2,214,000 0 2,533,800 1 2,214,000
A&t 1 4,747,800 0 1 4,747,800 2,533,800 2,214,000 0 2,533,800 1 2,214,000




